Computing in the Modern World
Class Exercise 0325
Binary Arithmetic

Complete the following table :

	Bit Position
	8

	7
	6
	5
	4
	3
	2
	1
	

	Positional

Value
	xx
	26
	25
	24
	23
	22
	21
	20
	

	Decimal

Value
	xx
	64
	32
	16
	8
	4
	2
	1
	

	Sum
	xx
	127
	63
	31
	15
	7
	3
	1
	Ordinal Value


	Character
	
	
	
	
	
	
	
	
	

	Space
	
	0
	1
	0
	0
	0
	0
	0
	32

	Zero
	
	0
	1
	1
	0
	0
	0
	0
	48

	L
	
	1
	0
	0
	1
	1
	0
	0
	76

	m
	
	1
	1
	0
	1
	0
	1
	1
	109

	NULL
	
	0
	0
	0
	0
	0
	0
	0
	0

	cr
	
	0
	0
	0
	1
	1
	0
	1
	13

	7
	
	0
	1
	1
	0
	1
	1
	1
	55

	/
	
	0
	1
	0
	1
	1
	1
	1
	47

	c
	
	1
	1
	0
	0
	0
	1
	1
	99

	y
	
	1
	1
	1
	1
	0
	0
	1
	121

	
	
	
	
	
	
	
	
	
	

	M
	
	1
	0
	0
	1
	1
	0
	1
	77

	3
	
	0
	1
	1
	0
	0
	1
	1
	51

	E
	
	1
	0
	0
	0
	1
	0
	1
	69

	e
	
	1
	1
	0
	0
	1
	0
	1
	101

	w
	
	1
	1
	1
	0
	1
	1
	1
	119

	9
	
	0
	1
	1
	1
	0
	0
	1
	57

	&
	
	0
	1
	0
	0
	1
	1
	0
	38

	q
	
	1
	1
	1
	0
	0
	0
	1
	113

	ff
	
	0
	0
	0
	1
	1
	0
	0
	12

	?
	
	0
	1
	1
	1
	1
	1
	1
	63


Name: _______________________________


Period: _________________


Date :   _________________
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